m’f il
“®

ke

9500-140 9660-1 990312 990332 990340
P i B
| N MS_ o
| Fﬁ

990341 990344 990346 990347 990348 990404

¥ 2
990405 990406 990407 991202 991203 991204
- — —— ’ ;
: \ f N : -
991206 991207 991208 991209 991210
991211 991212 991213 991214 991215 991216

991225

991227

991229

991230

991232

991234

991235

991237

991238 991240 991241 991242 991243
991244 991247 991253 991273 991301 991312

991316

991372




Forward Thrust

Washer
Cushion Hub

-

R

T

Aft Drive
Adapter

i

=1igs)

Hub Kit Description Part Number / Description
200 Evinrude®/Johnson® Outboards - OMC® Sterndrive 991202 Forward Thrust Washer
(V6/V8 Gearcase * 1991 to Present 991203 Aft Drive Adapter
991301 Cushion Hub
201 Evinrude®/Johnson® Outboards - OMC® Sterndrive 991204 Forward Thrust Washer
(V6/V8 Gearcase ¢ 1984-1990) 991203 Aft Drive Adapter
991301 Cushion Hub
202 Mercruiser® Alpha One® & Bravo One® (Less than 400 HP) 991204 Forward Thrust Washer
Mercury®/Mariner®/Sea Ray 40-140 HP 990344 Tab Washer
Mercury®/Mariner”/Sea ray 135-300 HP 991205 Aft Drive Adapter
Force® 85-150 HP (Dual Exhaust Units) 990346 Propeller Nut
Force® 75-150 HP (Mercury® 4-1/4” Gearcase) 991301 Cushion Hub
Honda® Outboards 70-90 HP (Thru 1998)
Yamaha® Outboards 80-175 HP (Thru 1983)
203 Yamaha® Outboards & Sterndrives 991213 Forward Thrust Washer
(V6 Gearcase * 115-130 HP; 150-250 HP; 1984 to Present) 991206 Aft Drive Adapter
991301 Cushion Hub
204 Suzuki® Outboards 991207 Forward Thrust Washer
(V6 Gearcase * 150-300 HP) 991208 Aft Drive Adapter
991301 Cushion Hub
205 Volvo® SX Sterndrives 991202 Forward Thrust Washer
(19 Tooth Spline; 1994 to Present) 991209 Aft Drive Adapter
991301 Cushion Hub
206 Evinrude®/Johnson® Outboards - OMC® Sterndrives 991210 Forward Thrust Washer
(V4 Gearcase * 1968 to Present) 991211 Aft Drive Adapter
991301 Cushion Hub
207 Honda® Outboards 991207 Forward Thrust Washer
(BFP 60, 115 & 130 HP, 1998 to Present; 75-90 HP, 1999 to Present) 991205 Aft Drive Adapter
(135 & 150 HP, 2004 to Present; 200 & 225 HP, 2002 to Present) 991301 Cushion Hub
208 Yamaha® Outboards 991212 Forward Thrust Washer
(V4 Gearcase * 50-100 HP; Spline Front Washer) 991206 Aft Drive Adapter
990338 (1) - Washer SS 30 x 17 x 2.5 mm
991301 Cushion Hub
209 Nissan®/Tohatsu® Outboards 991213 Forward Thrust Washer
(V4 Gearcase * 90-140 HP) 991214 Aft Drive Adapter
991301 Cushion Hub
210 Suzuki® V4 Outboards 991215 Forward Thrust Washer
(V4 Gearcase * 60-140 HP) 991211 Aft Drive Adapter
991301 Cushion Hub
225 Suzuki®/Johnson® Outboards 991253 Forward Thrust Washer
(DF 90, DF 100 & DF 115 HP 4-Stroke Applications) 991205 Aft Drive Adapter
990337 (1) - Washer SS 32 x 19.2 x 2.5 mm
991301 Cushion Hub
226 Suzuki®/Johnson® Outboards 991204 Forward Thrust Washer
(DF 140 HP 4-Stroke Applications) 991205 Aft Drive Adapter
990337 (1) - Washer SS 32 x 19.2 x 2.5 mm
991301 Cushion Hub
227 Suzuki® Outboards 991312 Forward Thrust Washer
(DF70A / DF80A / DF90A, 2009 to Present) 991206 Aft Drive Adapter
990337 (1) - Washer SS 32 x 19.2 x 2.5 mm
991301 Cushion Hub
228 Evinrude® Outboards - E-TEC® G2% 991402 G2 Forward Thrust Washer
(200-300 HP G2%, 2014 to Present) 991403 G2 Aft Drive Adapter
991401 G2 Cushion Hub

(

V4/V6 High Horsepower Hub Kits are available by special order. Add “SH™ to the end of any V4/V6 Hub Kit number (except XHS II 227 & 228) to order. For details, contact MWM Customer Service at 800-369-4335.




DR

Descripti Part Number / Descri
111 Evinrude®/Johnson® Outboards 991247 Forward Thrust Washer
(3-3/8” Gearcase * 40-75 HP) 991232 Aft Drive Adapter
991225 Urethane Cushion Hub
112 Nissan®/Tohatsu® Outboards 991273 Forward Thrust Washer
(3-1/4” Gearcase * 50-70 HP) 991232 Aft Drive Adapter
991225 Urethane Cushion Hub
113 Honda® Outboards 991234 Forward Thrust Washer
(3-1/4” Gearcase * 35-60 HP) 991227 Aft Drive Adapter
991225 Urethane Cushion Hub
114 Mercury®/Mariner®/Force® Outboards 991236 Forward Thrust Washer
(3-1/4” Gearcase * 25-70 HP) 991227 Aft Drive Adapter
991225 Urethane Cushion Hub
115 Suzuki® Outboards 991239 Forward Thrust Washer
(3-1/4” Gearcase * 35-65 HP) 991232 Aft Drive Adapter
990337 (2) - Washer SS 32 x 19.2 x 2.5 mm
991225 Urethane Cushion Hub
116 Nissan®/Tohatsu® Outboards 991241 Forward Thrust Washer
(3-1/4” Gearcase * 35-50 HP) 991227 Aft Drive Adapter
990338 (2) - Washer SS 17 x 30 x 2.5 mm
991225 Urethane Cushion Hub
117 Yamaha® Outboards 991243 Forward Thrust Washer
(3-1/4” Gearcase * 30-60 HP) 991227 Aft Drive Adapter
990338 (1) - Washer SS 17 x 30 x 2.5 mm
991225 Urethane Cushion Hub
118 Evinrude®/Johnson® Outboard 991237 Forward Thrust Washer
(3” Gearcase * 20-35 HP) 991229 Aft Drive Adapter
991225 Urethane Cushion Hub
119 Honda®™ Outboards 991233 Forward Thrust Washer
(3” Gearcase * 25 & 30 HP 4-Stroke Applications) 991226 Aft Drive Adapter
991225 Urethane Cushion Hub
120 Mercury®/Mariner®/Force® Outboards 991235 Forward Thrust Washer
(3” Gearcase * 9.9-25 HP) 991228 Aft Drive Adapter
991225 Urethane Cushion Hub
121 Suzuki® Outboards 991238 Forward Thrust Washer
(3” Gearcase * 25-30 HP) 991230 Aft Drive Adapter
Evinrude®/Johnson® Outboards 990338 (1) - Washer SS 17 x 30 x 2.5 mm
(3” Gearcase * 25 HP 4-Stroke & 30 HP 4-Stroke; 2004-2007) 991225 Urethane Cushion Hub
122 Nissan®/Tohatsu® Outboards 991240 Forward Thrust Washer
(3” Gearcase * 25-30 HP) 991226 Aft Drive Adapter
Mercury®/Mariner®/Sea Ray® Outboards 991225 Urethane Cushion Hub
(3” Gearcase * 25 & 30 HP 4-Stroke - Not Bigfoot Applications)
123 Yamaha® Outboards 991242 Forward Thrust Washer
(3” Gearcase * 20-30 HP) 991230 Aft Drive Adapter
990338 (1) - Washer SS 17 x 30 x 2.5 mm
991225 Urethane Cushion Hub
XHS II Standard Cushion Hub 991301 Delrin Cushion Hub
XHS II High Horsepower Inner Hub (Mercury® Part #850821A2) 991372 Solid Hub
V4 Gearcase Adapter Ring (3-Blade Propellers Only) 991216 V4 Adapter Ring (3-Blade)
V4 Gearcase Adapter Ring (4-Blade Propellers Only) 991316 V4 Adapter Ring (4-Blade)
20-30 Horsepower Gearcase Adapter Ring 991244 Package Includes All Three Sizes
XHS 9.9 HP - 70 HP Standard Cushion Hub 991225 Urethane Cushion Hub

)))))) V4/V6 High Horsepower Hub Kits are avail-
able by special order. Add “SH” to the end of

any V4/V6 Hub Kit number (except XHS II

227 & 228) to order. For details, contact MWM (
Customer Service at 1-800-369-4335.




